
2 m bracket for NEX-arms
part.no 10512832

NO. 148457/02
DATE  2002-03-01

MOUNTING INSTRUCTION

2 m or 3 m

2 m or 3 m2 m or 3 m

290

Tractive force / screw = 2000 N

Shearing force / screw = 360 N

Ø 9 
(4x

)28
6

M
6S

 M
8 

x 
10

0 
(x

2)

M6S M10 x 75 (x2)

M6S M10 x 75 (x4)

M6S M10 x 75 (x2)

M
6S

 M
8 

x 
10

0 
(x

2)

M6S M10 x 75 (x4)

ALT 2

ALT 1

MOUNTING EXAMPLES


